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Quistion 1 (6 marks)

A rod 1500 mm long and of diameter 20 mm is subjected to an axial pull of 20 kN. If the
modulus of elasticity of the material of the rod is 2 * 10° N/ mm? ; determine :

1- The normal stress
2- The strain

3- The elongation of the rod.
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Question:2 (7 marks)

An axial tension force of 35 kN acting on the bar shown in figure, if fthe modulus of
elasticity = 2.1*10° N/ mm , determine;

1- The stress in each segment

2- The extension of the bar.
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Question:3 (7 marks)

Determine the poission' s ratio for the steel rod 13 mm in diameter and 50 mm in length,
when the 50-kN tension load applied on it , the diameter is 12,99265.
Take Eg =200 Gpa
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